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B 18 BOBRARIREF

—hL KB o(X) 25 OEERE 1 ¢(X) & T

o(X)=(o|p(X)|0) (1.1)
TERT D, ST, RE|o) NHEFETFU T

") =U|p) (1.2)
DEEZ T 5 L

o' (X")=(¢|9(X")|0)=(p|U"p(X")|0) = {0|U"p(X")UU"|0)

<U'0)=|0) (1.3)
=(p|U'p(X")U|0) (U]0)=|ONEMEAETEUTEL THX)

Z 2T, BOFHEE T ¢(X) 126t LTHZIZ ¢ (X)) %

P'(X)=U'gp(X")U (1.4)
EERTD L.

¢'(X')={p|¢'(x")|0) (1.5)
ERFTE D, —H. THIxHE L TR R 2 AT 2B T QBFEL T

¢'(X')=Qp(X)=(p|#'(X")|0) = Q(p[4(X)|0) (1.6)
72 DT,

¢'(X)(=U'p(X)U)=Qp(X) (1.7)

Thod, RICQITHBONFHEE (AL RE) OZEWEM S, NWHAHEDRWALD 7 —
%

gb'(X') = @(X) for scalars (1.8)

INSLT Do AU, A A—VHITIE,
HRARE. GIZE, E40ERLT (X5 X')., XEMELELEA4

OEMETY (p—¢') EETHIDKEBIZES (9'(X)=¢(X))
Z LXK LTV A,
WINEE 1A

ET, HOREBOWNENS %
[(RIEH@RBAFELHNEFH]
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p(X)=¢'(X)-p(X) (1.9)
TEHKT D, o, U%
:
U:exp(—iZaAQAj with (ZaAQAj =Y a*0* (1.10)

ThbHbT &, BUNERIT|e! | < 1ITHIE L,
U~1-iy a'0* (1.11)
A

278D, £ZT. ¢'(X)=U"p(X")UZHNT

1o g g e o)

=¢<X'>+[iza@w<x>}
4 (1.12)
=0p(X')=¢'(X')- {1261 0",0(X }:X'—)X
:>5¢(X):{iZaAQA,¢3(X)}
SFED
X)z{iZaAQA,gb(X)} (1.13)
Ay SYIRVA

BHODEH
&(X)\HAz LT 5@(){):{1‘26@&@(){)} DEREEZD, —MOBEL LT

X)=[i7 (a),5(X)] =iot( )@(X) (o=21)
U:exp( zT ) Za Q" : generators (1.14)
t(a): G(X)NTIRAELTZT ()m\%fﬁ
235, o=lor —1%Zk®H5, Z Z T, Jacobiidentity Z A\ 5

[iT (). [T (a), ¢ (X) ] [+[iT (a).[ @(X),iT (b) ]|+ §(X).[iT (b),iT (a)]]=0 (1.15)

[iT(b).[iT(a),¢(X) || =[iT (b),ict(a)p(X)]=ict(a)[iT (b),p(X)]=ict(a)iot(b)p(X)
(1.16)
(RIEH@REXRFEFAHHEFH]



F1EBOEHRMELEREF 3/24/2017 3/6

ZRAT U,

iot(a zat(b)@(X)—iat(a)iat(b)(ﬁ(X): [[zT(a) :| P( ]:[[T(a),T(b):l,gb(X)]

1)1 (0)]0(X)=[[T (a).T(8)].6(x)] (o =1)

[1(a).1(5)]o(X) =~{[T(a).T(8)]- ()]

(1.17)

B

[[7(a).7(0)}-6(x) |[=~[1(a).1(8) Jo(X) (1.18)
22T t(a) T (a) DERBUZIR>TWD L& t(a) & T(a)lEXF— DR Z T T35 TH 2,
T(a)l3#Z2LTVDHDT

[7(a).T(b)]=T(c)=[T(a).T(b)]= Zf(c:a,b)T(c) (1.19)
DED

LL B2y

ZD2

yAAY SYIR

2725,

[[7(@).7(0)]. ()] =—[r(a) (] (X) &= [T (a).7 (0)] = X (c:0.8) 0

{EZJ"C a,b)T(c), (X }:—[z (b)]o(X)
}:f cczb[T@0¢> )|=-[t(a).t(b)]op(X)<=[iT(a),p(X)]|=ict(a)p(X)  (1.20)

Zafcab X)=-[t(a) )](/3 :achab c)=—t(a),t(b)]

:>[t ]:—aZf (c:a,b)i(c)

5

[T(a).T(b)]= gf(c 1a,b)T(c) = [t(a),t(b)]= —UZf(c 1a,b)t(c) (1.21)

DR[F] U AHABER 2l 7= D T

o=-1 (1.22)

Do TRRDDL,

[T(a).¢(X)]|=-t(a)p(X) (1.23)
LLED G

(RIEH@REXRFEFAHHEFH]
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X)= [iZA:aAQA,@(X)} =[iT(a),¢(X)]=ict(a)p(X) =-it(a)p(X)<

(1.24)
[T(a),T(b):I:Zf(c:a,b)T(c)@[t(a),t(b)]zZf(c:a,b)t(c)
INBEY. ¢(X)(=UTG(X)U)=Qp(X) with U =exp(—i T(a)) [CHEET 5 &
P(X)=U""[Qp(X)|U" =U[Qp(X)]U" with X' =X +4 (1.25)
B ot (N e
¢ (X')= U* e’ (X) U =pue’ (X)UT
:SQZ[exp(n a))p(X ] < UG(X)U" =exp(it(a))p(X) (1.26)
:slexp(n(a))é()()
DFE,
¢° (X')=Qexp(it(a))p(X) (1.27)
AN2—-0DRE
AT S
¢'(X")=0(X) (1.28)
PRILLTWD DT, XIZBT2 ¢3¢ (X)=U'p(X )\ U=p(X) &LV
P(X')=U"p(X)U" =Up(X)U' (1.29)
Ths, . (120&0
X)z{iZaAQA,gﬁ(X) (6p(X)=¢'(X)-p(X)) (1.30)
7T, BRFMEER O X O ITHFHEL RO A
X'=X+4 (1.31)
ZHWT,
0p (X'
§(X) =9 (X'~ )= ()~ AT 132

INERWDE, 130)FEX > X OEXHZZ LT
7 (X)=9(X)+| Za'0" 5(X') |- ()

= @' (X +4)=p(X +4) {zZaQ ¢(X+A)}

(RIEH@REXRFEFAHHEFH]
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oxX*« oX“
= aAA“@IE ok oL ECERATE S

~o(x)e a0 T g o) 6 x)
= {iZA:aAQA,é)(X)} =-4" %

Plb, &5 &,
P(X')=U""p(X)U" =Up(X)U" with X'=X+4

ol el g
-[imerati]-- B0

272 %, FTeRBUT
exp(~iT(a)) ¢ (X )exp(iT (a)) = exp(it(a)) p(X)

=p(X)+4° 20 (X) +{iZaAQA,¢3(X)+A" _8(5()()}

(1.33)

b EDEAT(a ZaQ & t(a ZaQ ILT, UbkzazFEdTELE

P(X')=Ud(X)U" =Up(X) with X'=X + 4
with Uzexp(—iT(a)) & U:exp(it(a))

Za 0" ( ( Za 0 j with TT(a)zT(a)(tT(a):t(a))
exp( 7(@)6(X)exp(i7 (a)) = exp(it(a)) $(X) = (X + 4)

5(X)=[ ()9 (X)]=-it()i( )= “OLX)

Nohd, &<IZ 4 RTTZER OPHE, iT(a):iZaAQA:ia”Pﬂio‘J:U“A:afoC@“C“

5¢(x) [za"P,gp ]——a [P,¢, :I %

[P ,gﬁ(x):l :iﬁgb(x) with U = exp(—ia”Py) and x" =x"+a"

BRXHFRACEE
B X DAL L2 WNESIFRED & & 1%, BHIIQIC L~ ThEns
(RIEH @R BRFBEMESE]
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(1.34)

(1.35)

(1.36)

(1.37)

(1.38)
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P'(X)=Q¢(X) with ¢'(X)=U"p(X)U
TdhD, DFEV . generators DT (a) & DERILD 1(a) DIFIC

Up(X)U"=Up(X) with U =exp(~iT(a)) & U=exp(it(a))

DOEENH DT, ADEGEITIE. U=r &35t

Vip(X)V =29(X) with ¥ =exp(iT (4)) & @=exp(ir(a))

27225 2 & bnd,

(RIEH@REXRFEFAHHEFH]

6/6

(1.39)

(1.40)

(1.41)



